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QUESTION 1

A multi-byte character encoded with UTF-8 has the first byte 11861101. What will the next byte begin with?
A 11

B. 01

C.10

D. 00

Correct Answer: C

QUESTION 2

What does the following command do? pip search syslog
A. Searches for python modules related to syslog

B. Searches for functions in the syslog module

C. Results in a syntax error for the pip function

D. Determines whether the syslog module is loaded

Correct Answer: A

QUESTION 3

What is the output of the Is(TCP) function?

A. It lists all of the TCP port numbers in a TCP stream
B. It lists all of the packets that have a TCP layer

C. It lists the contents of the TCP layer

D. It lists all of the fields associated with the TCP layer

Correct Answer: A

QUESTION 4
In a SQL injection attack, which character would an attacker use to separate multiple SQL statements on a single line?
A. \\'\\'(double quotation marks)

B. ; (semicolon)
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C. . (period)
D. % (percentage sign)

Correct Answer: B

QUESTION 5
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A log file is stored in variable "a". The file has the following format for each log entry, in order, stored in big endian: Field
1: 2-byte integer Field 2: 2-byte integer Field 3: 4-byte string Which of the following would unpack a line from the log file

into the proper fields?

A. struct. unpack(\\'>HH4s\\',a)
B. stmct.unpack(\W'\HHHH,/a)
D. stnjct.unpack(\\''BxBx4s\\'/a)

Correct Answer: A
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